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COMPOUND INTEREST / DEPRECIATION) | T RANSCRIPT

ComPa\mJ Tnteres€

Exl Find the amsuat ih‘ Ele bank when i‘S—OOO 1<

nvected at 4% pes armum For 2 qears

£ s o000 Aleermabively
£ 200 +
1Rl £ 5200 25000 x .04 x l.o4
4 203 + X
ek £ 5408 = #6000 x .04

= £5408%

Exz. l:l'nl/’ Ehe amount .lh tL\C ‘Dank wl'\(n égOO 1<

{nvesfed at lOo/o Pef annun ‘For' K¢ bemrS

£800 All:erml—'we'j
L %0+

(3 £gsg0 £800% .10 x .10 x I.10
£ 3% + , 3

Me2 £ 968 = £R800 x 110

96 .86 +
R2 £1064 .80

£1064.80

A Lorrule Lor c_onpounv{ imterest

1€ A i ameunk in Bmk) P i principal - the amount \ﬂ\/esi-ed) .

r ;S E\\Q QHV\V&‘ PQ(CC-\”"&&Q_ V‘&{:'Q O‘F '\n‘tuegE) hn the

N
numbher of Years, € hen A = P(‘ + 75—0)
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CoMPoOUND T NTEREST / DEPREC,ATION TRANSCR (PT

Enl Find Ehe amount in Ehe bank when £2500 i

wesked at 6 ‘Z per annumw Lor 7-33«/5_

A= PCL+&)

7
Armounkt = 7{2.5'00 x |.06

£37549. 0%

Ex4 Find the amount in the bank whea £4000 ig

o :
ir\\)QSfeﬂ( ot 12 4 P armum 6{ 2¢ Ueulg.

Amour\t = %4000 x |12

= £68000.26

bePfQLiAEiOV\V

E » <. and Ehe valve of o 2 ne_qr old obor ¢3de
(€ it cost £4000 new and depreciated by WA per annum

Alf:erhaé.velb
£ 4000
¢ ) 000 - £4000 x 0.7F7 % 0.7%
MR\ £ 000 : 2
| 750 - = 44000 x 0.7
£ 2250
= £ 2250
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COMPOUND |NTEREST / DEPRECIATION | TRANSCR\PT

Exé Find the vale of o 3 :rea/ald car € it ceck

é‘!OOO new gnrd Acr(‘eu.u‘l"ed b‘Q 'OZ PQ/' anvom

£ 4000 A |ternahively
£ 906 -
el £ 3100 290006 x 6.9 x 0.9 x 6.9
£ 8\0- 3
12 £ 7240 = 44000 x 0.9
£ 129 - |
Yez £ ésae| = £6C6|

Formula Lor deprecia bion
Nalbe = P (' - .'E;\:oxn

Ex Find the valve of a T yeas old F«d-ur«l machme | f b
tost é)4-gooo new and depreciated A'l Ich pes annum,
Valve = P( | —75-0)"
Valve = £ 145,000 x 0.88’

= £46,484

Exg FMJ tL\C VAIU& o'€ ~ 10 040\’ olo' -chl'nfts Macl\:ne |€ |'t

cost {75’6}000 new and Je'ofecixéccj L3 ZXZ (Au anaum

~ N
Nalve = P( 1 —15)
10
Valve = £750,000 x 0.72

= £72%8,079

l)
ti




